TERH . KC-48A
S . TRIBH : BESAFEZ&H60%15*25cm EBfz: 1.00M
THHIEH sl Bu HE BB ey Py 5L
RS FEgA 2 1.67 438| 730
iZAaRENAFSIEDIIT B 1.00 150 150
1:37KERD 3R EaY 1.00 20 20
e L E M 1.00 90 90
TETH EaY 1.00 10 10
M E B & 1000 T
TERH . KC-48B
S . TRIBH : BESAFEZ&A30%15*25cm EfI: 1.00M
THHIEH A AF Bu HE BE g My 5L
RS FEgA 2 3.33 219 730
ZARENAFIERIIT U 1.00 150{ 150
1:37KERD IR 2 1.00 20 20
ML E M 1.00 90 90
ZETR 2 1.00 10 10
M E B & 1000 T
TERH . KC-48C
SR . TRIBH : BESAFEZH60%15*30cm EfI: 1.00M
THHIEH A AP Bu HE BE iy My 5L
RS FEgh 2 1.67 510/ 850
ZARENAFIEDIIT b2 1.00 150{ 150
1:37KERD 3R b 1.00 20 20
e LE M 1.00 90 90
ZETHR b 1.00 10 10
M E B &f: 1120 7o
TERHE : KC-48D
SR . TREIBH : BESAFEZH60*20*25cm EfI: 1.00M
THHIEH sl B HE BE g My 5L
RESAFEghA 2 1.67 546 910
ZARENAFIEDIIT b2y 1.00 150{ 150
1:37KERD 3R b2 1.00 20 20
e lE M 1.00 90 90
ZETHR b2 1.00 10 10
M E B &f: 1180 7t

880

880

1,000

1,060



TERH . KC-49A
S . TRIBHE : RE L EmEEZH60*10*10cm EBfz: 1.00M
THHIEH sl Bu HE BB ey Py 5L
RiE L EmEEGA 2 1.67 380] 633
1:37KERD 3R EaY 1.00 20 20
ML E M 1.00 50 50
TETH paY 1.00 7 7
M E B & 710 7T
TERH KC-49B
SR . TREIBHE : RE LA EmEEZA60*10*11cm EfI: 1.00M
THHIEH A AF Bu HE BE iy My 5L
RiE L EmEEGA 2 1.67 390] 650
1:37KERD IR b 1.00 20 20
ML E M 1.00 50 50
ZETR 2 1.00 10 10
M E B & 730 7T
TERH . KC-49C
S . TREIBHE : RE LA EmEEZA60*10*12cm EfI: 1.00M
THHIEH A AF Bu HE BE #RIE My 5L
RiE L EmEEGA 2 1.67 410] 683
1:37KERD 3R b 1.00 20 20
e LE M 1.00 50 50
ZETHR b 1.00 7 7
M E B & 760 T
TERH KC-49D
SRR . TRIBHE : FEE FHEmEZ&A60710*15cm EfI: 1.00M
THHIEH sl B HE BB g My &£
RiE LA EEBZA < 1.67 420 700
1:37KERD 3R = 1.00 20 20
e lE M 1.00 60 60
ZETHR = 1.00 10 10
M E B &f: 790 7T
TERMH : KC-49E
SRR . TRIBHE : FEE FHEmEZ&A60710*20cm EfI: 1.00M
THHIEH A AH B HE BE g My &£
RiE L EEEGA 2 1.67 450] 750
1:37KERD 3R = 1.00 20 20
e LE M 1.00 60 60
ZETHR = 1.00 10 10
M E B &f: 840 JT




TiERHE . KC-50
SRE . ITRIBE : BiENATEZA100%15%12cm B : 1.00M
THRIEH s E=Kivi = BE e P EE
SN A& A 53 1.00 760 760
BARENATHEIIT G 1.00 150 150
1:37KEfP iR = 1.00 20 20
MR 1 & M 1.00 60 60
EETH = 1.00 10 10
M B B &t: 1000 7t
TH=EBME . KC-51
SRE . TRIBE : BiENATEZA100%15%15cm B : 1.00M
THRIER AR =Kl = BE HE P EE
IS AT & A (EwRE)| = 1.00 760 760
ZAaFRESAFIEYIIT b 1.00 150 150
1:37KEfPER = 1.00 20 20
R LE M 1.00 60 60
EETH = 1.00 10 10
M B & Ef: 1000 TC
THEBMH . KC-53A
SRE . Ti2IEHE  BE%A FEEZA60%15/20%33cmO B : 1.00M
TRIER AR =Kl = BE HE P EE
IS N AT & A 53 1.67 684| 1,140
A _HmxAaFnL = 1.00 150 150
1:37KEfPER = 1.00 20 20
R 1E M 1.00 120 120
EETH = 1.00 10 10
M B & &f: 1440 7T
TR . KC-53B
SRE . T 2IEHE : BE%AFEEZA60%15/20%42cmO B : 1.00M
TRIER AR ==Kivi g = BE HRE P EE
TR A T & A 52 1.67 894 1,490
A _mExAaFinL = 1.00 150 150
1:37KERD 8% 3 1.00 20 20
MR 1E M 1.00 120 120
EETH 3 1.00 10 10
M B & &t: 1790 It

910

910

1,290

1,640



